Outline for Math 9 Final

Similarity (Chapter 4)
· Determine if two objects are similar
· Solve for missing values when objects are similar
· Convert between metric units

Rational Numbers (Chapter 2)
· Order rational numbers
· Add, subtract, multiply and divide rational numbers

Powers and Exponents (Chapter 3)
· Use Exponent laws
· Solve problems involving exponents

Polynomials (Chapter 5 and 7)
· Be able to combine like terms together
· Understand how to use algebra tiles to solve problems
· Multiply and divide binomials and monomials
· FOIL

Linear Relations (Chapter 6)
· Determine the equation for a pattern
· Extrapolate and interpolate from data
· Recognize equations of lines from graphs and graphs from equations of lines

Linear Equations (Chapter 8)
· Be able to solve one, two and multi-step equations
· Solve problems involving linear equations




[bookmark: _GoBack]<Ch.2 Rational Numbers> 
Rational Numbers: ___________________________________________________________________________
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3.	4.  
          Write the numbers in ascending order. 		               Write the numbers in descending order. 
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5. 	6.                 
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8. Evaluate. 
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9. Calculate. Show your work.
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[image: ]< Ch.3 Exponents & Powers>
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<Ch.5 Adding & Subtracting Polynomials>
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[image: ]   	 Simplify by combining like terms.


  
[image: ]              Add or subtract the polynomials.
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<Ch.7 Multiplying & Dividing Polynomials>
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Use the distributive property to expand each expression.
a) (5m)(2m + 3)       b) (–n)(n + 1)	  c) (1.3x)(2x – 5)    d) (–m + 2)(3m)

Divide.




a)                b)        c) 	    d) 
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<Ch.8 Solving Linear Equations>
1. Solve each equation and then show a check of each solution.


a) –4x = –4.96	            b) 	                         c) 




d) 	               e) 	         f) 




g)   	         h) 	              i) 




j) 0.4x = 5.58 – 0.2x                k) 	                              l) 


m) 5(2x + 1.2) = 4(x – 1.5)

2. Solve each problem.
a) Carol gave a 15% deposit on a diamond bracelet. The deposit was $73.50. What was the cost of the bracelet?


b) Eric earned  of the profits of the canteen on the weekend. His earnings were $620. What was the total profit earned in the canteen?

c) The cost of a banquet at Nick’s Catering is $215 plus $27.50 per person. If the total cost of a banquet was $2827.50, how many people were invited?

3.	Solve each equation.
a) x + 5 = 12				b) 2 = x – 9		              c) 4x = –16 





d) –7.12x = 35.6 		 	e) –= 25                       f) = 	





g) –= 				h) x + 15 = 12 - 3x   	    i) 2 + 12x = x – 9		





j)  +5 = –4				k) 17 –= 13 + 





l) 3(x – 1) = 5(1 + x)			m) 2.25 – 1.5x = x – 9.75	
	








n) = 				o) –= 
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Fillineach| |with >, <, or = to

make each statement true. Show
your thinking.
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Is each of the following rational
numbers a perfect square? Explain.

ag b) 0.4
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a) —1.8 x 6.1 + 3.8(~0.9)
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b)-2.2[4.8 - (~1.7)]
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9.7 +4.8-19.24 x 5.2
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Write each expression as a single
power. Then, evaluate.

a) 32 x 33 b) (=2)* x (=2)°

9 4x 4 x4t d)[(-3)*
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Evaluate.

a) =5(2 + 52) + (—4)°

b) [(=7)* = (=2)°]*

—16 + (-3)?

9 G- 22- (a2

d) 5(4)° + (-2)*
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Rewrite each expression as a single
power. Then, evaluate.

a) 76+ 74 b) (=5)° + (-5)°

—6)2(—6)t
9 87;537 d)( (12)3)
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Choose from the following terms to complete the statements in #1 to 3.

binomial exponents highest monomial polynomial
symbols trinomial variables
1. Algebra uses , often letters, to represent unknown numbers

or quantities. These unknown values are called

2. A is made up of terms. Some of these expressions have
special names, depending on the number of terms they have.

* A has one term.
* A has two terms.
* A has three terms.

3. Each algebraic term has a degree, which you can find by adding the
of the variables in the term. A polynomial has the

same degree as its ~degree term.
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Refer to the following polynomials to
answer the questions below.

4ct-3c+2 4ab
-4 -12
50— r g+h+j

Which of the above polynomials

a) are trinomials?

b) have a degree of 22

o have a degree of 07

d) are monomials?

e) have a coefficient of 4?
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a) -b2+ 6+ 502 -8 +9

b) 7t + 14 + 6t — 5 - 38 + 42
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a) (8 +50) + (-d - 9)

b) (—4n? — 4) + (—2m* - 1)
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Q (=4 +5) — (-n* - 9)

d) (62 + 2a — 5) — (43> + 5a + 7)
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Which of the statements do the

algebra tiles represent?

000
A (+x=3)+ (= 2x+3)

B (X2 +X—3)+ (—x2— 2x +3)

C (2—x—3)+ (—x*—2x+3)

D (O +x+3)+ (= —-2x+3)
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Which equation does the algebra tile model represent?

A (4x—4) + (x+3)=5x—1
([}
00 Ee

B (4x+4) - (-x+3)=5x+1

- = 5x— LI
€ (x-2)+(Bx+1)=5x-1 IIIIIDDDD
D (2x-2)— (-3x-3)=5x+1 IIIII

[m]
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Sketch a model of each multiplication b) (=4x)(=3x)
statement. What is the product?

a) (4x)(-2x)
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Use the following terms to complete #1

dividend division exponent rules numerical coefficients
product x-tiles —x-tiles
1. a) This is a model of multiplication. [ —— — —]

The xe-tiles represent the

The six —x*tiles represent the . ...

The divisor is represented by three | — ——

 To multiply monomials algebraically, you can

The factors are represented by

b) This is a model of

multiply the

and then use the

to multiply the variables.
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Write a division statement for each
model and solve. The grey tiles in b)
are xy-tiles.

SN —— E—

| ...
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Write an expression for the area of
each shape. What is the simplified
expression for the area of each shape?

a) & b
3h

b

12x
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Solve.
a) (-6a)(—4a) b (24) %
20¢
=

O d) —32ac + —8ac
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Determine the missing dimension in
each figure. Show your work.

a) b)
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image34.png
Choose from the following terms to complete #1.

constant  enlargement  larger  reduction  scale factor  smaller

1. a) A scale factor greater than 1 indicates a(n) , which
results in an image that is the same shape but proportionally

than the original.

b) A scale factor less than 1 indicates a(n) , which results in
an image that is the same shape but proportionally than
the original.

9 The is the amount by which all

dimensions of an object are enlarged or reduced in a scale drawing.
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Match the term in column A with the correct description in column B.

A

1. scale diagram

IS

1
2) 120000 = 7

2. scale

b) 3 cm x 1200 000 =

3. solve using a scale

) 1:1 200 000

4. solve using a proportion
representation

d) a proportionally smaller or larger object
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b) The Euvira Micmac beetle below
is enlarged using a scale factor of
1:0.05.

40 mm
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. Use the scale factor to calculate the
actual length of each object.

a) The scale factor for the image of
this hockey stick is 1:42.

31
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. Kaylee is 100 cm tall and is standing so
that her mother's shadow covers her
shadow. She is 90 cm from her mother
and her mother's shadow is 225 cm
long. How tall is her mother? Express.
your answer to the nearest centimetre.
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Ex Determine the missing side lengths
of the triangles below. Show your
calculations.

a r
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Compare5 0.7, -2.1, and -13.
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Compare §, 0.511, 13, ~1.7, and &
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1. a) Circle the rational number(s).
2.1 -3 ™ 3 vz

b) Circle the numbers that are equivalent to 3.

9 =15 =21
-3 30 =) vo =7
Choose from the following rational numbers to complete #2.
3 5 0 3 14
7 -2.1 7 3 7 s -5

2. a) Fill in the blanks to identify the rational numbers.

N TTTf

b) Circle the opposite numbers.

< Which rational number lies between 0 and 1?

—55

e

o




oleObject19.bin

image57.wmf
1

4

x


oleObject20.bin

image58.wmf
x

2

1


oleObject21.bin

image59.wmf
2

-

x

4

3


oleObject22.bin

image60.wmf
5

3


oleObject23.bin

oleObject24.bin

image4.png
Complete each statement.

a) —12.5 - =-5.6

b) 2.7 + =-7.1
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